SN AL
HM: sHMA JEI XY (sElYSN /s - S&)
£r9l: 521 0] ¥ ALE] (oo m g
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
A4 28,375,092 49,868,665 N21,493,573
= 6,154,000
Fag 3,987,000
== 618,400
Al 17,615,692
SHMA JEBIEM (sHMN L2/ s5H - &) 10,512,395 5,669,061 4,843,334
= 1,154,000
Fag 1,644,000
== 513,400
Al 7,200,995
S I EHALY 10,142,395 5,329,061 4,813,334
= 1,154,000
Fag 1,644,000
== 513,400
Al 6,830,995
=clANEE 289 & FU| 47,573 46,855 718
101 ol A H| 5,669 11,147 N5,478
04 JIZtHZ2Z2XNSE S 5,669 11,147 N5,478
= 0ff & 5,669 11,147 N5, 478
ONMELE A2 o8 5,669
—-J23 33,400& x 1 %222 x 74 & 5,144
—EBE8d= 525
=2 0AZ 5,143,600& * 1Y x4 5% 232
-AHAEE 5,143,600& *x 1 x3.12% 161
- 1EEE 5,143,600& * 12 x1.50% 78
M2 E 5,143,600& 1 x0.8% 42
H}ILAEEH 160,481& 1 +7.38% 12
201 B2 A | 41,904 35,708 6,196
02 33294l 41,904 35,708 6,196
= Ol & 41,904 35,708 6,196
OsSHMA JIBIAIE IS (L4 8X
ME) 37,000 x50 A~ %12 22,200
O=sgS8UHE2E =& A A
120, 340& *60H 2~ 7,221
OUYLZ ot AL HI(7TIHA)
1,119,000& x7JH 2~ 7,833
Ostall &I (Z¥£D]) 22|
25,000 = 186CH 4,650
I ZMEQIT2H (I AHFHER) 460,000 397,800 62,200
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FA2AHED
A

HE =M JBES (SENYL N/ - B E)
S SZIIEALS (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
= 182,000
= 23,400
Al 254,600
401 A&HIZ=20b 460,000 360,000 100,000
Fas 182,000
& 23,400
Al 254,600
01 A&l 460,000 360,000 100,000
s 182,000
= 23,400
Al 254,600
= Off & 460,000 360,000 100,000
= 182,000
= 23,400
Al 254,600
OJIAHSBEZ LT IA
260,000,000 =14 260,000
Fas 182,000
= 23,400
Al 54,600
OJIHAZBHZ =& L Wl X SA
200,000,000 =14l 200,000
sHIIBEH(Ex2R X254} 198,750 173,750 25,000
s 159,000
Al 39,750
401 AIZBIZ =208l 198,750 173,750 25,000
s 159,000
Al 39,750
01 Al&Hl 198,750 173,750 25,000
Fas 159,000
Al 39,750
= Off & 198,750 173,750 25,000
s 159,000
Al 39,750
O8=+2 =28 M 198,750, 0003 *14] 198,750
s 159,000
Al 39,750
St Ol EHLAS (OIS L&) 300, 000 300,000 0
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2M: AL
Ha: SMA JBES (SYHSSM/SY - 5E)
SHl: 5 IIBHAY CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
= 240,000
Al 60,000
401 AEHILRHE 300,000 300,000 0
= 240,000
Al 60,000
01 A&l 300,000 300,000 0
= 240,000
Al 60,000
=0l A 300,000 300,000 0
= 240,000
Al 60,000
OBHTHE B2HL A 300,000,000 * 14! 300,000
= 240,000
Al 60,000
SOE 22ME2 NS 4,177,072 2,485,656 1,691,416
201  LEr2IH] 1,952 1,976 A24
01 At 2r2ltl 1,952 1,976 ~o4
=004 1,952 1,976 ~24
OSINUAY F7 SASK Y (BSE
2 s) 22,0002 238 A 506
OselotAtel 7 ZelE EH 2o (&
sy 5) 3000002 *47H 1,200
OseDlotAtY 27 ST N
61,5002 x40 2 246
202 OfHl 2,400 2,280 120
01 =0l 2,400 2,280 120
=0 2,400 2,280 120
OSUIIBAY HRHE U ABALE
B30/l 60,0002 x2Z 202 2,400
401 ANSHIL2THY 4,172,720 2,481,400 1,691,320
01 A&l 4,152,720 2,371,400 1,781,320
=204 4,152,720 2,371,400 1,781,320
OL298 22Ma2 N
5,000,000 * 10021 500,000
OSUSHEBE ASR2 L FSIA(Y
243) 4,791,666% *482 230,000
OSoIIEH R A & A& bl
10,000,000 *221 20,000
O=¢8 H4X EBHIIAL
27,720,0002 *14] 27,720
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M3
SUMM IS EL (SHHSLL/5Y - 5E)
EEBIN (2@
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES HE o) (713 o) Hns2
SEEEEEEEREEE
62,500, 000! *47H 250,000
OHIEE =2 HYUEX S2He
1,200,000 250 X 300,000
OARR SINPAE HUIZA
26,750,0002 * 10021 2,675,000
O STHYl 22T HE DA
30,000,008 *521 150,000
03 Al = CH| 20,000 110,000 90,000
=0 4t 20,000 110,000 A90,000
OARD A AIZSOHI 5,000,0002 43 20,000
REX I (SYIIBAIL ) 490,000 0 490,000
= 490,000
401 ANZHIL LY 490,000 0 490,000
= 490,000
01 Al&HI 490,000 0 490,000
= 490,000
= 0l & 490,000 0 490,000
= 490,000
ANE ETOIE 52 EF
30,000, 000! *14! 30,000
= 30,000
O4ors =2 TH(DENS, SH50HS)
30,000, 000! * 141 30,000
= 30,000
Ogge Sd WAz Hy|
30,000,000 *14! 30,000
= 30,000
OMES HatDig 52 Z&
20,000, 000! *14! 20,000
= 20,000
OMES SEA = 42 Il
25,000, 00021 * 14! 25,000
= 25,000
OMES LE0IS 2 42
25,000,000 *14! 25,000
= 25,000
OHEBY TEOIS BH+2 Fbl
25,000, 0002 *14! 25,000
= 25,000
ON® ZBHAX Y 842 |
50,000, 000! * 144 50,000
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SN AL
H: S IR (SEHSIN/5Y - 5E)
9l = QiDIBHAY ECHE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 50,000
OM® 3I8O0IS 271 Hy|
20,000,0002 *14! 20,000
= 20,000
OMS 3120i2 52 =u%
20,000, 00081 * 14} 20,000
= 20,000
OMSl &3 =2 24 20,000,000 14! 20,000
= 20,000
OMS 83 2 FHl  30,000,0002 14! 30,000
= 30,000
OsFs |22 M2 RENHES =2 &
T3 20,000,000 * 14} 20,000
= 20,000
O2SH YOS A114-11 SHOIS B
42 TM 20,000,0002 *14! 20,000
= 20,000
OF el #F-el 804-1 HHOIS & 42
4| 30,000, 0008 *14] 30,000
= 30,000
OEFO 72l M2BHNLY WROIE =
2 sny 30,000, 00084 * 14} 30,000
= 30,000
OFSH Y= 664-2HK XU S22
4| 20,000,0002 *14! 20,000
= 20,000
OMES dtAtel 52 FHIBA
25,000, 00081 * 14} 25,000
= 25,000
OHES YOS AW Hy|
20,000,0002 *14! 20,000
= 20,000
HaX24223 A 150,000 90,000 60,000
401 A&SH LY 150,000 90,000 60,000
01 Al&H 150,000 90,000 60,000
= 0f & 150,000 90,000 60,000
OL398 H4X 242
50,000, 000! *30H A 150,000
ULT BLBATA 100,000 80,000 20,000
401 AlEHILHY 100,000 80,000 20,000
01 A&l 100,000 80,000 20,000
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SN AL
HE: SMM JMEL(SHHLLL/S5Y - SE)
Sl 59DIP ALY (2@
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES = T HRE2
= 0l & 100,000 80,000 20,000
OLs LT AL B42Y
5,000, 00021 2074 4 100,000
SEH BaBUBA 353,000 340,000 13,000
401 NEHLSUY 80,000 60,000 20,000
01 Al&HI 80,000 60,000 20,000
=0 & 80,000 60,000 20,000
OL% 918 YZH NE 2222
10,000, 00021 «87H £ 80,000
403 RISHSKZO0IH 273,000 280,000 A7,000
02 BIIZSHICHS X2 X 2/ €A b 273,000 280,000 A7,000
=0 & 273,000 280,000 A7,000
O SASER HESAL
273,000,0008 14! 273,000
SHETA 842 IHIANY 500,000 300,000 200,000
403 RXSHSTHEZOIH 500,000 300,000 200,000
02 BIIZSOIHE X=X 2 €A 500,000 300,000 200,000
=0 & 500,000 300,000 200,000
OSHEZA BH =2 HUIAY
250,0002 %2, 000 500,000
ZYo SEZHN LAY 1,862,000 486,000 1,376,000
2 1,303,000
Al 559,000
401 ANZHILLHY 1,862,000 486,000 1,376,000
2 1,303,000
Al 559,000
01 Al&tHI 1,862,000 486,000 1,376,000
2 1,303,000
Al 559,000
=0 & 1,862,000 486,000 1,376,000
2 1,303,000
Al 559,000
OFYY SESUN LB AL
1,862,000,0002 *14! 1,862,000
2 1,303,000
Al 559,000
2OINY Y ER WSS (10K ) 914,000 0 914,000
2 914,000
401 NEHL2UY 914,000 0 914,000
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2M: AL
Ha: SMA JBES (SYHSSM/SY - 5E)
SHl: 5 IIBHAY CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
401 ASHILLTHY 2 914,000
01 Al&HI 914,000 0 914,000
= 914,000
=0 914,000 0 914,000
= 914,000
O QIUEH HES DA
914,000,000 * 14! 914,000
= 914,000
SIOHCHE ZHl 7Y 50,000 0 50,000
405 T&HFH S 50,000 0 50,000
01 TAUSEHSY 50,000 0 50,000
=0 4t 50,000 0 50,000
O MU Zul(L40l, 52 S) 2
5000002 *100CH 50,000
SPNY 52 U a2 Hyl 90,000 0 90,000
401 ANEHLLHY 90,000 0 90,000
01 Al&HI 90,000 0 90,000
=0 & 90,000 0 90,000
O BEY 2Wal W42 FUAY
500,0002 *100m 50,000
O Zao Mae =2 HE2A
200, 0002 *200m 40,000
HES UM a2 FUIDA 150,000 0 150,000
401 ANEHLLHY 150,000 0 150,000
01 Al&HI 150,000 0 50,000
=0 & 150,000 0 150,000
O SE8S 24 Ha2 HHIBAH(FOIEO
ol &) 500, 0002 *300m 150,000
HE SHAH(SIER D sP8+ 23 300,000 0 300,000
401 AEBILR0L 300,000 0 300,000
01 Al&HI 300,000 0 300,000
= 0 4t 300,000 0 300,000
OWME BHAHEHX R S28+ B3 IA
300,000,0002 15 300,000
=2ATEAIY 100,000 240,000 A 140,000
SN S2HEY 100,000 220,000 £120,000
401 ANSHILLTHY 100,000 220,000 A120,000
01 Al&HI 100,000 220,000 A120,000
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SN AL
HH: soMa JIBEL(SEHSLN /5 - &)
S9: SRHREIAY CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 0l & 100,000 220,000 A 120,000
Ozl sXs s34 100, 000& *400m 40,000
Oblgd3sg F& 29 X3AY
20,000, 000& =34 A~ 60,000
S 4+=2 HFHIAIY 270,000 100,000 170,000
SXY H1£==2 ZH| 270,000 100,000 170,000
401 AEBIZL LY 270,000 100,000 170,000
01 Al 270,000 100,000 170,000
= 0ff &F 270,000 100,000 170,000
O sSX< S22 HHl SA
200, 000& *400m 80,000
OZAlEs EUES =M E A
5,000, 000& *30m 150,000
OsY9s ¥0t2 #H FHIAL
400,000 *100m 40,000
otld AH(ZEYXIMY/=XH) 12,527,694 19,666,047 N7,138,353
= 2,000,000
Fag 2,343,000
== 105,000
Al 8,079,694
ol A UIALY 12,527,694 19,666,047 N7T,138,353
= 2,000,000
Fag 2,343,000
== 105,000
Al 8,079,694
T AR A 1,562,475 929,294 633, 181
101 ol A4 H| 476,761 454 /580 22,181
04 JIZtHZ2ZXNSE S 476,761 454,580 22,181
= 0ff &F 476,761 454 /580 22,181
OZAGtE EHIDl S ot&a 22l 184,971
—-Jl23 83, 130& x10H x21 x8 & 139,659
—F5g 83, 1303 *10H x34 28,265
— 28 EREZ 17,047
- =0AZ 167,922,000& *4.5% 7,557
AL E 167,922, 000& *3. 12% 5,240
a8 167,922,000& *1.5% 2,519
M E 167,922,000& *0.8% 1,344
AeedEy 5,239,000& *7.38% 387
Ost&EA Ha & sFHY| 83,697
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SN AL
Hz: ol HUH(ZEL XYWL /LX)
S ot BIAY (cte ®
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;ﬁ% HRE2
AR==] 66,800 x5H x21 x8& 56,112
—F5g 66,800& x5H x34 11,356
-5 100,200& *5H 17 8,517
—EEERE=2 7,712
=013 75,959,000& *4 .5% 3,419
A2 E 75,959, 000& *3. 12% 2,370
128 E 75,959,000& *1.5% 1,140
AR E 75,959,000 *0.8% 608
HIAEE 2,369,920 x7.38% 175
Osd & 24X =4 2 22 118,909
—-JE23 66,8002 *8H x21! «8 & 89,780
—F534 66,8003 x8H x34! 18,170
—2EEREZ 10,959
=03H= 107,948,000& *4.5% 4,858
Pal g =t 107,948, 000& *3. 12% 3,368
=3k 107,948,000& *1.5% 1,620
ATHEE 107,948,000& *0.8% 864
PN ORI = 3,368,000& *7.38% 249
SHI &M= M A 29,729
el ==1 66,800& x2H »21! 8 22,445
—F5g 66,800& x2H x34 4,543
—BEEHZ 2,741
=01H= 26,986, 000& *4.5% 1,215
ALEE 26,986,000 *3. 12% 842
11888 26,986,000& *1.5% 405
ATHE S 26,986, 000& *0.8% 216
HIRAEEH 842,000& 7 .38% 63
OO0IAFE (ZAF, AMANEIEAHl S 59,455
-Jlzga2 66,800& x4 21«82 44,890
— 524 66,800 x4H x34 9,085
—HE 8= 5,480
=043 53,973,000& *4.5% 2,429
A28 E 53,973,000 *3. 12% 1,684
E=h=! 53,973,000& *1.5% 810
ATHE S 53,973,000& *0.8% 432
H}IAEE 1,684,000& *7.38% 125
201 282 A Y| 85,714 85,714 0
01 Ar®2telt] 33,207 33,207 0
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SN
X ZH -
L=

el

o)
{0
]
{0

x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
= Off & 33,207 33,207 0
Osdae MRES 7Y 60,000& =103 600
OsdEHI0 OE ABAEHMNE L A2F
- 461, 7503 x202] 9,235
Os&zt&E4d st3X ¢ 800,000& 123 9,600
Os&dae 34283 ¢ 81,000& 128 972
Os&E2c e 2234l 2L
1,000, 000& *123] 12,000
Osdze FJAZE 28= 72¢
200,000& x2H #23| 800
02 =524l 52,507 52,507 0
= Off & 52,507 52,507 0
Osdzst&Es 20 HIIAER
3,000,000& x12& 36,000
OfsJIs s8&X S5 300,000&~12& 3,600
Odotd &l Mgz 2E Al 12,907
- NS dAZ 94,000 =1 CH 94
— SN RE= 200,000 = 1CH 200
— NS Al 200,000 = 1CH 200
- g S5U 784,410& x12& «10H 9,413
—Zel g | 250,000& x12& «1CH 3,000
401 AEHIZR0YI 980,000 389,000 591,000
01 Al&HI 980,000 389,000 591,000
= Off & 980, 000 389,000 591,000
O 4ot AMEsS S 22 A
200,000,000 =14l 200,000
O dstd Sl At 90,000,000 » 14! 90,000
O dotd Z83t&E 4 CCTV &XIAHY
100,000, 000& * 14 100,000
Os&dUH 23AIE WAL
40,000,000& %14 40,000
Osd 2ots &XIALY 500,000,000 » 14 500,000
OZaGtd W AIE2 010y UXAIE &
XA 50,000,000& =14l 50,000
405  RHaHH SHI 20,000 0 20,000
01 A& F=SSFHSHI 20,000 0 20,000
= Off & 20,000 0 20,000
Os8HM=J 7 20,000,000 = 1CH 20,000
St S Al 22| 970,000 708,000 262,000
401 A&HIZ=0b 970,000 708,000 262,000
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SN

M ot
Chel: St EHIAY (o2&
x s . 0 & o & & 0 A o -

SA - B (SH) - HRAY - BAES =z T BlRE2
01 A&l 970,000 708,000 262,000
= Ol & 970,000 708,000 262,000

S otdsX2elAtY  5,500,000& 1004 550,000
Ootd EIHEEHE 2 &S MAALY
10,000, 000& x40 A 400,000
OstE U Jtse & CTvsilaelsd
20,000, 000* 14 20,000
A0otd FHIAMY 2,286,000 1,790,000 496,000
» 1,143,000
Al 1,143,000
401 A&HIZ=20b 2,286,000 1,790,000 496,000
fas 1,143,000
Al 1,143,000
01 Al&UI 2,279,135 1,783,556 495,579
2 1,143,000
Al 1,136,135
= 0fl & 2,279,135 1,783,556 495,579
s 1,143,000
Al 1,136,135
OA5td FHIAE 2,279,135,000& 14 2,279,135
s 1,143,000
Al 1,136,135
03 Al&=204dl 6,865 6,444 421
= Ol & 6,865 6,444 421
O4otd HHIALEY 6,865,000& » 14! 6,865
ANeotd HUIAIG (DS 2(SHE) At) 2,400 4,278,400 A4,276,000
202 (4 d| 2,400 2,400 0
01 2L I 2,400 2,400 0
= Off & 2,400 2,400 0
OZHEEES & RAHF 2E HOILK(
3As) A 60,0002 x2H x5 43| 2,400
MESIM SAAG (B2 At &2IIAe) 2,920 778,800 AT75,880
202 Ol 1,920 1,800 120
01 =AY 1,920 1,800 120
= Ofl & 1,920 1,800 120
O ot aeIIMNG =t etE28s & o
LA HOILH(AZ2s) &4
60,0002 x2H x4 43 1,920
203 YR FZl 1,000 1,000 0
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FA2AHED

Zal: ol
Sl G E I HIAY (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
03 AZZFARETY 1,000 1,000
= 0 4 1,000 1,000 0
OBZH Cast@NIINY £
1,000,000 *14} 1,000
HEHS N2 134,170 166,824 £32,654
101 Q12 44,593 79,611 £35,018
04 JINH2E2SR % 44,593 79,611 £35,018
=0 & 44,593 79,611 £35,018
OHER SHEKX 2ol 44,593
-J=3 66,8002 %32 x212! +8 S 33,668
—FEay 66,8002 *32 x342) 6,814
- 2ERY3 4,111
2003 40,480,000 *4. 5% 1,822
SR 40,480,002 %3, 12% 1,263
nE-1oH 40,480,0009! *1.5% 608
WEE 40,480,000 *0. 8% 324
=BlI=FI=E 1,263,000 +7 . 38% 9%
201 Yur2YHl 27,129 24,513 2,616
02 T2 27,129 24,513 2,616
= 0 & 27,129 24,513 2,616
OMERFH S22 L HIMNEBR S
2%z 2032 2,260, 7502 * 122 27,129
206 THEUI 14,448 14,700 A252
01 MEHl 14,448 14,700 A252
= 0 4 14,448 14,700 A252
OMEH +EMM AETY
1,204,000 +122 14,448
401 ANSHILLTHY 48,000 48,000 0
01 Al&H] 48,000 48,000 0
= 0 & 48,000 48,000 0
OMER +TJsAE RN 22
4,000,0008! +122 48,000
MENSIE SR (S TASE QHGENH) 2,400,000 3,850,000 A1,450,000
2 1,200,000
Al 1,200,000
401 NEHL20Y 2,400,000 3,850,000 A1,450,000
2 1,200,000
Al 1,200,000
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SN

X XH -
S =

Chel: St EHIAY (cte ®
SH-EH. O (AN) - NRANY - B o) ) HDE2
01 AI&EHI 2,391,391 3,839,605 A 1,448,214
s 1,200,000
Al 1,191,391
= 0l & 2,391,391 3,839,605 AN 1,448,214
fax 1,200,000
Al 1,191,391
OlEd SETE=E 2g6td MM ALY
2,391,391,000& 14! 2,391,391
= 1,200,000
Al 1,191,391
03 Al&=208I 8,609 10,395 A 1,786
= 0l & 8,609 10,395 A 1,786
OlEH SELSE 206t A ALY
2,391,391,000& *0.35999% 8,609
THTMMRAENLAXN2HE (=L EF) 4,000,000 6,595,118 A2,595,118
= 2,000,000
Al 2,000,000
401 AI&BIZ =208l 4,000,000 6,595,118 A2,595,118
= 2,000,000
Al 2,000,000
01 Al&HI 3,985,652 6,580,418 A2,594,766
= 2,000,000
Al 1,985,652
= 0l & 3,985,652 6,580,418 AN2,594,766
= 2,000,000
Al 1,985,652
O 8= NATHH /A ML X HHIA
& 3,985,652,000& 14! 3,985,652
= 2,000,000
Al 1,985,652
03 Al&=04bl 14,348 14,700 A 352
= 0ff &F 14,348 14,700 A 352
O 8& NATHH A ML X EHIA
& 3,985,652,000& *0.35999% 14,348
AOHXIF otd |22 64,729 79,611 A 14,882
101 ol24d| 29,729 79,611 N 49,882
04 JIZtHZZ2NSE= 29,729 79,611 AN 49,882
= Off &t 29,729 79,611 N 49,882
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SN

= 5
S ot BIAY (e &
M- =8 a9 (3) - HEAY - a2 ggi) @(ijf;ﬁ% HRE2
O’UA 7 ot& w22 29,729
—-Jlzgs 66,800& x2H 21! 8 22,445
— =54 66,800& x2H x34 4,543
—EEERE=2 2,741
=013 26,986,000& *4.5% 1,215
-HEEE 26,986,000 *3. 12% 842
128 E 26,986,000& *1.5% 405
AR E 26,986, 000& *0.8% 216
I QAEE 842,000 x7.38% 63
401  AlEHIL 208 35,000 0] 35,000
01 Al&HI| 35,000 0 35,000
= 0l & 35,000 0 35,000
OXNAIF otd AIEE2 S X2
20,000,000 =14 20,000
OXHA 7 ot& SHIJIAIY
15,000,000 » 1Al 15,000
MEHSIE SRAIE AF 22 100,000 180,000 A 80,000
401 AEBIL LY 100,000 180,000 A 80,000
01 Al&H| 100,000 180,000 A 80,000
= 0ff & 100,000 180,000 A 80,000
OMEIGIE ZEAY ASB 2
50,000, 000& =24 A~ 100,000
AKX (ot SR 22l) 105,000 0 105,000
= 105,000
401 AIEHIYL20iH] 105,000 0 105,000
== 105,000
01 Al&H| 105,000 0 105,000
& 105,000
= 0l & 105,000 0 105,000
== 105,000
OHEXH HEA B 25,000, 000& =14 25,000
== 25,000
OlEd HYE StE32 FH|
30,000,000 =14 30,000
== 30,000
OF2H 52| 304-25 250 &2
Ab 20,000,000& =14 20,000
o 20,000
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SN AAD
o 5lA FHI(REUNAML/4TR)
Sl o & H HIALY (sl @
x 5 . ol & A & 0 Ao -
SN B (SH) - NEAY - BES = o =L HiRE2
Ofzp Muills AU 28 2 sBd
& 30,000,000& =14 30,000
= 30,000
8.26~9. 188358 o=+ MY 850,000 0 850,000
401 AEHIZR0UI 850,000 0 850,000
01 Al&Hl 850,000 0 850,000
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